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Circle the letter corresponding to the correct answer :-

1) Find the:.-.gzmain PATRY dla.A A (1

2 N 1 (x) = 2 N |1
x—3 x+1 Jx) = x—3 x+1
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3) Use the shown graph
represented f(x) to determine

the end behavu)r of the

function f (xj _ o4 23 .

A) lim f(x) = — o0, lim f(x) = o
B) lim f(x) = 2, lim f(x) =2

O)lim f(x) = 3, llm f(x) =3
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'1 2x2

X— 00

D) lim f(x) = oo, llm f(x) =
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4) Determme the end behavmr

_ 2x* ’3
of the function f(x) = V) Gz
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A lim f(x) = 2 s o K
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B) lim f (x) = 00
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5) State the domain and range

fx) = (47) +2
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fX)=04")+2

A) Domam = (—,,2), Range = (—o0, )

B) DOmam = (—o0, 00) Range = (—,2)
€) 1Domain = (~e» 00) Range = (2,) %

D) Domain = (—x, —2) Range = (-, ©)

6) Evaluate
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7) Express (n40
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8) Find the measure of angle 6 Aa QY 9 4950 (uld 22l (8
Round to the nearest degree

1::-%}_:"-}' '

9) Find the length ef arc U ugdll Jgha aa gl (9
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10) Let (—5,12) be a point on dal) e ali (-5, 12) w2 Al (10
the terminal side of an angle @ in| = 4881 4adl 2a4) @ 4y ) U Al
standard position. csch ,sech
Find the exact values of o
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14) Which of the following is A Y b laa bl (14
not equivalent tu cos 0 006 <- uu Lale

when0<e<;4
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15) Solve 3\.,\233::;5\ dabaall o (18
4sinx = 2sin x +\/_ 4sinx = 28inx +2
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16) Determine whether function f(x) = ;__24 i i = 2.

Justify using the-continuity test. If discontinuous, identify the type of
discontinuity as( infinite, jump, or removable)
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x| 19 [ 199 | 199 [ 21 2000 7 201 | 21
F(x) | 0.256 | 0.2506 | 0.25006

L\'wsj” Ky=o0-2G- }_(

0.2499 0.249 | 0.244
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17) Find the average rate of change of f(x) = —2x3 + 3x + 5 on
[-2,—1].
[—2,—1] 388N & f(x) = —2x3 + 3x + 5 Adall i) Jau gia 23 40 (17
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18) The population of a town is declining at a rate of 5%. If the
current population is 40500 people, predict the population in 10 years

using each model.
ae adgid ¢ (add 40500 A Gl s uts 1) .78 Sdray ddiaa LS dae aBlity

FAgal S aladiudy < gie 10 g GlSd)
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19) If cot 0=- find the exact Values of the five remalmng

trigonometric functlons for the acute angle 6.
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20) State the amplitude, period, frequency, phase shift and vertical
shift of y = si n(x + 2m) — 1 .Then graph two periods of the
function.
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